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(iif) Centralized computer to which Map,
enmpu‘tn En“cn“n" computers are attached is: y
' v (a)  Server (b) Chent
Chapter 1 (¢c) NIC (¢) Bluetooth
i A network that usually covers
NETWORKS AND COMMUNICATIONS | () & wetwork ot ey
==-_-__ﬂ-. - — (2) LAN {h) WAN
¥ (¢) MAN
(d)  All of the above
1. Fill in the blanks. (v) Which one is the Satellite navigatjg,,
(1) Computers connected to a network are system?
used to share information and (a) LAN (b) WAN
(1) Sending device is also known as C MAN (d) GPS v
3. State True or False.
(1) One of the most widely used (i) Clients are typically more powerfy|
communication device is computers than Server
(1v) LAN stands for ) Resources cannot be shared in LAN.
(v) Network that covers a very large (iii) The world’s most popular WAN s tp,
geographic area is called Internet.
(vi) Modem stands for (iv) Network can be formed withoy
(vii)  NIC stands for : communication devices.
(vii)  Communication medium that is made up | (v) Dialup Modem is a software.
of a thin glass fibersiscalled (vi) NIC is used to conrnect computers With
(ix) Satellite communication is a type of network.
___ ArecaNetwork. (vii)  Twisted-Pair cable is the lafeg
(x) GPS stands for transmission medium.
Ans. (i)  resources (vii)  Satellite Communication is the type of
(i)  resource or transmitter Wide Area Network.
(1)) modem (ix) GPS stands for Govt Post office
(iv) local area ret work Services.
(v) WAN (x) Bluetooth is a wireless technology.
(vi) Modulation and Demodulation Ans. (i)  False (1) False
(vii) Network interface card (iif) True (iv) False
(viii) Fibre optic cable (v). False (vi) True
L (ix) WAN (vii) False (vii) True
I.(x) Global positioning system (ix) ~False (x) True
Q.2.  Choose the correct answer., Q4. Match the columns:
(i Printer, Plotters, Scanners, CD-ROM (1) [Modem (@) |GPS
Drive are known as:
(a)  Network devices (i1) {Coaxial cable (b) |Bluetooth
4 (b)  Computer resources Fea— o
(d) Clients (d) None of above (i) [Navigation system| - (c) Commumcatlon
- (i) Receiving device is also known as: device
(@)  Source (b) Sinkv’ (1v) [Short distance| (d) |Transmission
(c)  Transmission media Communication medium —
(d)  All of the above (v) |Mobile Phone (e) |Cellular
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Classt

o) communication

"___‘_,_...--—-——

ANS.

o R

(0 Modem (@) |Communication
device

[t

(i) Coaxial cable (b) |Transmission
medium

s R

(ifi) Navigation (c) |GPS

system
(iv) Short  distance| (d) |Bluetooth
Communication

(V) Mobile Phone (e) [Cellular
communication

Q.5 Define Computer Network. Why do

we use networking?
Ans. Computer net-work.

A collection of two or more computers
that are linked together through communication
medium (wired or wireless), in order to share
resources and information is called a Computer
Network.

Uses:

It can be used for simple task like
sharing a printer, lazar, software, games etc. it
allows the users to communicate with other
easily through electronic mail, chatting, video
conferencing.

- Q6. Discuss briefly the different types of

Computer Networks '

OF 'COMPUTER

TYPES
NETWORKS
They are commonly classified into three
types according to ‘graphical boundaries. These
classifications are:

LAN

(a) Local Area Network (LAN) .

A Local Area Network (LAN) is a
computer network. It is contained within a close
or small area such as a home, school, small office
building, or small laboratory etc.

LANs are inexpensive to install. The
most common type of transmission media used
with LAN are twisted-pair cable, coaxial cable,
fiber-optics cables. Today wireless LAN is also
becoming very popular. Network adapter and hub
are commonly used devices to build a LAN.

Ans.

Compuler Educa!ioriﬁ

A LAN is uscful for sharing information
and resources like files, games, printer, scanner
ete. Users can also use LAN to communicate
with cach other by sending c-mail or chatting. A
LAN in turn may conncct to other LANS and to
the Internet or WAN.

In LAN, since distances are limited,
therefore data can be transmitted at a very fast
rate. There is also a limit on the number of
computers that can be attached to a single LAN.

Metropolitan Area Network (MAN)

Metropolitan Area Network (MAN) is a
computer network that usually covers a city or a
large campus. It covers a large geographical irea
than LAN ranging from several blocks of
building to entire city.

MANSs are larger than LANs but smaller
than the WANs. Many MANs may be as large as
the size of a city and in some cases it may be as
small as a group of building.

MAN is difficult to install. It requires
fast networking components and additional
communication equipments in order’ to achieve
better speed. In MAN, Fiber optics are preferred
for high speed communications.

(c) Wide Area Network (WAN)

WAN stands for Wide Area Network. It
is a network that covers a broad area such as
different provinces, countries and continents.
Normally WAN consists of two or more
interconnected LANs or MANSs. Large business
and government departments are the users of
WANS.

WAN is expensive than LAN.
Computers connected to a wide area network are
often connected through public networks, using
DSL (Digital Subscriber Lines) or telephone
lines. WAN can also be connected through
satellite. The world’s most popular WAN is the
Internet.

PLA ticketing system and different
branches of a bank connected throughout the
country are the examples of WAN.

Q7. What is MODEM? Discuss different
types of Modem.
Ans. MODEM: Modem is the combination

of the two words: Modulation and DEO dulation.
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The different of MOLDEMS are as
following:
Internal Modem:

It is a card that plugs int&an expansion.

External Modem: It is a handy device
that can casily be attached to computer
externally. It is expensive than the Internal
Modem.

Wireless Modem: It
computer without a wire. It is mostly used for
Internet.

(b) Network Interface Card
It is also called as LAN adapter,

Network Card or simply NIC in short. It is used

types

is used with

to connect the computer with network. It

converts;, sends, receives and controls data on
the network. :

Different Network cards are available
for different types of computers. Each Card has a
unique number, which is used for addressing. It is
called the MAC (Media Access Control) address
or Physical address. :

Network cards for

transmission are also available.
Qs. Define Satellite Communication.
Satellite Communications:
Satellite communication is a type of
wide area network. It allows radio, television
transmission to be sent live anywhere in the
world. The data transfer speed of satellite
communication is very high. Before satellite,
transmissions were difficult or impossible at long
distance.

Today, there are hundreds of
commercial satellites in operation around the
world. They are used for weather forecasting,
television broadcasting, radio connections,
Intémmet access and the Global Positioning
System (GPS). Scientific studies of our planet
and atmosphere all rely on satellite
communications. Today satellite phones work
anywhere without having the problem of signals

wireless data

Ans.

Q9. Write a short note on the following:
(a)  Fiber-Optic Cable
(b)  Global Positioning System (GPS)
(c) ' Bluetooth

(a) FIBER-OPTIC Ci}BLE

Fiber-optic cable 1s one of the Mmogy
advanced and expensive type of Cm]m““icatign
medium. It is made up of thin glass fibers whig
are slightly thicker than a human hair. Thed
fibers arc contained in a protective tube suitgy
for any environment.

Fiber-optic cables allow transmissjg,
over longer distance and at very higher speed j,
network communication. There are very g
of data loss. It is difficult to install.
Now-a-days Fiber-optic cables g,
widely used for Internet services and 10ng
distance pig:

Cutting edge technologies refer to the
most current and advance IT developmens,
Cellular communications, satellite
communications, GPS (Global Positioning

chances

' System), Bluetooth are a few examples of cutting

edge technologies, which are discussed below:
(b) GLOBAL POSITIONING SYSTEM?
The Global Positioning System (GPS) js

a satellite-based navigation system. It is normally

used to determine the geographical location of a
person or object etc. For example, it maybe used
to locate a person or it can be used to monitor the
movement of a person or object etc. It may also
be used to find the location of the stolen vehicles.
A device that receives the GPS signals
for the purpose of determining the device's
current location on the earth is called GPS
navigation device. This device has many
advantages like:
. Providing directions to the drivers &
other information.
o Containing all types of maps.
. Providing  information on traffic
condition. Providing information on
. " nearby hotels or Petrol/CNG pumps, €t¢
(c) BLUETOOTH
Bluetooth is a wireless technology. It
was originally developed to eliminate cabling. I

1s used to communicate between two or morc

devices over short distances, typically up to 32
feet (10 meters). It is used to link cell phones
computers and other network devices The namé
Bluetooth is borrowed from Harald Bluetooth, 2
king in Denmark more than 1,000 years ago.
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There are many advantages: (iv)  Avira, Avast, AVG are the examples
It is incxpensive. It is a low power of:
signals technology it requires very less. (a)  Computer virus
You can share data and voice via (b) Worm (c) Adware
X v (d)  Antivirus software
It provides a secure way to connect and 1 T ==———— is a program which
e,\'change between devices such as mobile delivers computer_
phoncs,computcrs etc. (a)  Virus (b) Worm
(c) Adware
Chapter 2 (d) - Anti Virus software
Q3. State True or False

COMPUTER SECURITY THREATS
|

1. Fill in the blanks.

T ——— is the protection against
threats. '

17 R S infect other computers

through computer network.

(RUER......... B is a program which delivers
ads to your computer.
- (iv) T the evil-genius
computer program. _
- |——— programs  protect  your
computer against virus attack.
Ans. (i) security (i) worms

(iii) Adware
(v)  Antivirus

Q2. Choose the correct answer.

(i) In computer security, a possible
damage, loss or crime that may harm
your computer is:

(a) Load Shedding.

(iv) Hacker

(b)  Flood (c) Hacking

v (d) Threat '

(ii) The most common type of security
threat is:

v (a) Virus (b) Worm
(c) Adware

(d)  Antivirus program

A threat that uses computer network
to replicate itself.
(a) Virus

(c) Adware

(1ii)

(b) Worm v’
(d) None the above

(1) Threats are harmless. (F)

(i) There is no difference
computer virus and worm. (F)

(iii) Computer virus is hardware. (F)

(iv) AVG is a computer virus. (F)

(v) Symantec 1s the name of Anti virus
program. (T)

Q4. Match the columns:

between

(1) |McAfee (a) [Hacker

(ii) |Evil genius (b) |Protection against

' programmer threats

(iii) [Adware (c) |Antivirus program

(iv) [Security (d) |Adware

(v) [Ads (e) [Harmless by itself

Ans

(i) |McAfee () |Anti virus program

(ii) |Evi genius (b) [Hacker

programmer

(iii) [Adware (c) [Harmless by itself

(iv) |Security (d) |Protection against
threats

(v) [Ads (e) [Adware

Qs. Define computer security threats.
Write briefly about virus.
Computer Security Threats
A security threat is a possible danger,
loss or crime that may cause possible harm.

Virus worms, adware, hacking are some
types of computer security threats.

Ans.

//'
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~ VIRUS: The most common type of
security threat is the computer virus. A computer
virus is a small program that inserts and
replicates itself in the computer without your
knowledge and takes over the control of the
computer system. Computer viruses are usually
man-made.

Depending on the nature of a virus, it
may causc damage to your data or interfere the
normal operations of your computer. It may
format your hard disk or may reduce computer
memory or disk space. It may corrupt your
software or may display some false messages on
the screen.

Q6.  How a virus spreads itself? Discuss
briefly.

Ans. HOW A VIRUS CAN SPREAD
THROUGH:

Today many people know about the

virus, worm and adware, still they don’t know
how these are spread. There are many fervent
ways in which a virus, worm and adware can
spread from computer to computer. Let’s take a
look at the most frequent ways in which these
threats are spread.
(a) Infected Flash Drives or Floppy Disks
The sharing of data and programs
through Universal Serial s (USB) is very
common nowadays. (In past, Floppy disks were
used for this purpose]. It is a common way to
spread virus from computer to computer. When
we copy the data from USB to another computer,
the virus copies itself automatically to that
computer.
(b) Email Attachments: By using Internet,
email user can easily receive the virus by infected
email attachment. When this infected email
attachment is opened by the user, the virus
executes itself and will begin to infect the files
stored in your computer. Don’t open the
attachment if you don’t know the sender or an
attachment with exe or all extension.
(c)
insecure websites on the Internet, your computer
can easily be infected by the virus automatically
and may damage the stored data in your
computer. They often install adware bugs and
other harmful programs.on your computer. So

Surfing Insecure Websites: By surfing

always avoid opening the websites which gy, :
0
related to you.

Q7. Write a short note on the t'nllrm.in11
(a) Worms (b) Hacker
(a) WORMS: Computer Worm is stmay

piece of software that uses computer networy
replicate itself. It spreads from compute, h:
computer without any human action. Wy,

normally infect other computers through
computer network. i

There is a difference between Compyte,
virus and worm. A virus needs a }}ost programy,
run, while computer worm can 1.e. it doeg oy
need to attach itself to the existing program,

Email worms, Internet Worms, Instap
Massaging Worms are the examples of compyg,
WOrms. '

HACKERS: In the most familiar senge
hacker is an evil-genius computer gramms
Hackers gain unauthorized access to others
computer item for the purpose of stealing apq
corrupting data. Hackers have od Programming
skills and full understanding of the intery
taking of the computer system and networking
Some hackers hack swords to break into the
system, while others hack the system juy
exploitation and embarrassment.

Chapter 3
SPREADSHEETS IN EXCEL

1. Fill in the blanks.
(1) Esttel 18 8 snnasasmice S0wELE
(ii) o A is an inter section of2

row and column.

(111) In Excel 2003, there are
columns and........... TOWS.

(iv) By default, each work book
cerereennennnne. WOIksheets.

(v) By, default, the numbers are aligned ©
the..........in the cell. )

(vi)  Formula begins with the .............-- sigh

() The e function returns te

square root of a given number.

Scanned with CamScanner



classic Middle Guide

vitl)
(ix)
(x)

Ans.

Q.
@

(i)

(iii)

(vi)

(v)

(vi)

(vii)

281 Computer Education-8
The shorteut command........ ' "
AT shodt <sused to | (viii)  The ‘Save’ button looks like:
The shortcut command.............. is used Y@ B
to paste the data. (b) g
The shortcut command............... is used ﬁ"
to bold the text. () !D
(1) Spread sheet (ii) Cell
({ll) 256, 65536 (d) None of the above
(“f; thtee (v) right (i)  The function MIN(1, -2)
(v) == (vii) SQRT @ -1 (b) -2V
(vii) CTRL+S
(i) CTRLAV . )y 0 (d) None the above
(x) The graphical representation of the
Choose the correct : g
NS ect answers: (@) Flowchart (b) Chart v
- ):e Is the: (c) Drawing (d) None the above
(a) pplication software Q3.  State True or False.
(b)  System software (i) - Like Ms-Excel, Lotus 123 is also a
.(c) Presentation software spreadsheet software. (T)
(d) None of the above (ii) Ms-Excel is the part of Microsoft
MS-Excel and Lotus 123 1. .. Office.(T) .. |
(@) Database software (iii) In spreadsheet, data is organized in
(b)  Spreadsheet software tabular form. (T)
(c)  Presentation software (iv) The columns are numbered from 1 to
(d)  None of the above 63536. (F) i
THere aré columns in one | ) The function SQRT(-16) would return
worksheet. =4. (F)
@) 1024 (b) 65536 (v The command ‘Ctrl+C is used to paste
© 25 - (d) 100 ihe celle..(F) ) -
By default, the name of the current Aps. _ El)) 'Ff‘rue (-“; 'l£‘r;1e
workbook in the Title-Bar is: : (:)1 F;;l:e E::;) lez:
(2)  Worksheet (vii) False  (viii) True
(d) Bookl (c) WKSI (ix) True - (x) True
(d)  None of the above | (vii) The command ‘Ctl+D’ is used to
The address of the 256* column of the underline the text. (F)
worksheet is: (viii) In MS-Excel, . the text is aligned
(@ AV (b) ZV automatically left side of the Column.
© W d) 2z (T)
The function that is used to find the (ix) A Chart is a graphical representation of
largest or maximum number from a the data in the worksheet. (T)
range of numbers is: ()  Column chart is a chart in which
(a) MAXIMUM(b) MAXY numerical values are illustrated with
(c) MAXI (d) LARGE horizontal columns. (T)
The function power (2,3) would Q4 Match the columns:
- return: -
(@) 6 b) 8V (1) MS-Excel (@) [256
9 d) 2000 o
© d - (ii) [Rows |(®) |Chart /
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] What is MS-Excel? Discuss its my;
(111) [Columns (¢) [Microsoft Office Q6. biinoaiig n
v) [Pie Spreadsheet Ans.  MS-Excel:
(iv) |Pic (d) |Spreadshee MS-excel is spreadsheet software thyy
(v) [VisiCale (c) 655306 can be used for storing‘ organizing ang
manipulation data  collection of  multipje
Ans. worksheets saved together in one excel file jg
(1) [MS-Excel (a) [Spreadsheet called as workbook. :
There are many features of MS-Excel. A
(1) |Rows (b) (65536 few are given below:
° It is very user friendly.
) Gl . - MS Excel spreadsheets ha_ve the
(1v) |Pie (d) |Chart capacity to organize information int
756 columns and 65536 rows (in MS.
(v) [VisiCalc (e) |Microsoft Office Excel 97-2003).
& It has many built-in functions.
21515 ]S);fel:;ssg::ﬁdsmet' . We can sort our data in ascending or
' N descending order.
t that stores
A spackhent iz ROUMaDL G B It has variety of charts such as Bar chart,

data in a grid of rows and columns.
(i) SPREADSHEET SOFTWARE
Spreadsheet software is used to create
and manipulate spreadsheets electronically in
rows and columns grid. It allows the user to
organize large amount of data easily. We can use
a spreadsheet program to create budgets, balance
sheets, and ‘other type of data-based documents.
In spreadsheet, data is organized in
tabular form 1.e. in rows and columns. Rows are
typically labeled using numbers (1,2,3, etc.),
while columns are labeled with letters (A,B,C,
etc). Data is displayed in cells. A cell is the
intersection of a row and column. Each cell can
contain either numeric or text data. The value ina
cell can be calculated from a formula. Each cell
has a cell address. It consists of the cell’s column
letter and row number like C6 or B20.
Spreadsheet has now become an
important and powerful business tool.
Spreadsheet software can store and provide
valuable information. It can be used for a variety

of purposes, like:

. It can be used for accounting, budgeting,
customer information and many more
purposes.

. It allows us to make different

calculations using formulae and built-in
functions.

Pie chart, Coluaeai chart, Line chart etc.
It has the Auto Fill, Auto Correct and
AutoFormat features.

Q7. Define ‘the following MS-Excel
Functions with examples 1
(a) SUM (b) AVERAGE
(¢c) MIN (d) POWER

INSERT BUILT-IN FUNCTIONS

A Function is a pre-defined formula that
is used to perform common mathematical
functions quickly and easily. It saves your time
of writing lengthy formulae. Commonly used
functions are discussed below:
SUM Function

The SUM function adds all numbers in
a range of cells. It has the following syntax:

= SUM(number 1, number2.......... number_n)

Or
SUM(cell1, cell2.,..........cell_n)
Or '
= SUM(cell 1: cell_n)
Example:
. Enter any five values in Ai through AS
cells.
. Click on cell (A6) to display the result.
. Type =
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SUM Function showing result
You can also use Auto Sum button @ on
the standard toolbar for this purpose.

PRQDUCT Function
The PRODUCT function is used to
multiply the range of numbers. It has the

following syntax:

PRODUCT (number 1, numbers2,..cus number_n)
OR
PRODUCT (cell1: cell2)
Example:
. Enter any five values in Al through A5
cells.
. Click on cell (A6) to display the result.
. Type the function PRODUCT (Al, A2,

A3, A4, AS) or PRODUCT (A1,A5)

qsic Middle Guide
cle 283 Computer Education-8
Type the function SUM(A
. C l; s - ol
: Ad, AS) 'DUM(M:AS) ( A2, A3, SUM [«]% ..J:ppoour:T(AT A)
' B e LA B c D { E
g_H ,_] x \, .1 =SUM(A1A5] - 1 ——2J e ..].,._. _.._I .
Al Bl CcTDp e | |2 ¢4
| : 3. 6 .
2 4 | 7 | I
3 6 3 TV N TR P
1 B 6.[=PRODUCTAT.AS) | |
4 | . _ ICTIAL:AD). |
5 10 L ‘ '
6 |=SUM 1:AB) PRODUCT Function
N o Press ENTER or click on the green
check mark V *1 on the formula bar, you
SUM Function will get the result, as shown in the
0 Plresi ENTER or click on the green following Figure (3.16).
check mark 2999 s i S
will get themrles.lili. :gn:l?;:;’ ek );?1“ b | =] SPRODUCTIAT AS)
: in the '
Figure 3.14. . g uir,-__‘—z]l -g 1_-,.1- ___,,_,@,,_ JIW.D.L-—J——E l—
E e e | [F 8
A Bl clDTE] ral
o i R
_Ejl : A L ' j
‘g‘ PRODUCT function showing result
1 E: * AVERAGE Function
_ @ s B The AVERAGE function is used to
: ' J ' T | calculate the average of a of numbers. It has the

following syntax:
AVERAGE (number1, number2, .........number_n)
| Or
AVERAGE (cell1: celln)
Example:
U Enter any five values in Ai through AS
cells.

o Click on cell (A6) to display the result.
e  Type=
o Type the function AVERAGE (Al, A2,

A3, A4, A5) or AVERAGE (A1:A5)

[7TEm TS H I =] SAVERAGEAT AS5)
24 4 | |

e B B
¥ B { 4
g S |

? P __IL_ —
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Q.8.  Define the following: s :Idctd the “Data Range” ang clig
(8)  Pie Chart e . ;
(b)  Column Chart . Enter the name of Chart title, tit] of y
Ans.  Column Chart axis, and Y-axis.

Column Chart
Column chart is a chart in which
numerical values are illustrated with horizontal
columns. In this chart, each column represents he
value of one item of data. The following
procedure is used to create a column chart sing
chart wizard.
: 8 Enter data in worksheet.
2. Select the data, as
following Figure (3.29).

shown in the

T P B B G G
1! Subject Marks
2 |[Eng 87

3 |Urdu 62

4 |Maths 90

5 1Phy 65

6 |C.Sc. 75

7T -

8
9

‘Sample Data

i,

PR

. Click the Chart Wizard button
on Standard toolbar or on the Insert
menu, click Chart. Chart Wizard dialog
box will appear.

. Choose Chart type ‘column’ and click
Next.

£ ["TI th |
Chart Wizard

Cnot W - Sp 2014 - Ot Surcm Oom 1,

ChartWizard-Step 2
Suppose we enter DMC for Chart title,
SUBJ ECTS for X-axis and MARKS for Y-axis,

Chmw"md sup!eu cmo&sm

Thes | axet Imltm?mmmlmmﬂl

Chart fjbe:
r—’—-———-m -

| Gategory () wes:

Subjects

1 Yalue V) s

: Second categery (X) mxdst

Wavhe
+33885sa8ed

. Seqond vaiue (Y) aris:

Chart Wizard- -Step 3

. Press Next button, the following dialog
box will appear.

nw|
CAsdeen  EE |

QI

T N [
Chart Wizard-Step 4
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Click *An object in® 1o insert chart in
existing sheet and click Finish (o see the
column chart. The following chart will
appear in the existing sheet,

s ———— e ————

d ‘1‘&—\“‘
g
g
[7g]
L ZE =
{-‘; % = f
s (9]
e |
|
o
&
o]
5
3
h - [
Column Chart
LINE CHART

A line chart or line graph is a type of
chart which displays information as a series of
data points connected by lines. It is used to show
trends overtime.

o I—
pRC
i — §
£ 4 ]
L
. .
3 1] ]
s
o
Line Chart

If we apply the above procedure for the
worksheet given in figure 3.29, we will get the
Line Chart.

PIE CHART

A Pie chart is a circular chart divided
into sectors; each sector shows the relative size of
each value.

If we apply the above procedure for the
worksheet given in Figure 3.29, we will get the

following Pie Chart.
= - ey
K j
Lo
| =
=Py
ucsc |
Pie Chart
Chapter 4
PROBLEM-SOLVING
1. Fill in the blanks:
(1) Graphical representation of a program is
called.........coeerrerrenne '
(i) A set of different ........cconee. is needed
in drawing flowcharts.
(iii) ANST gtands Tor s
(iv) All flowcharts must start and end with
......................... symbol.
(V) Decision symbol is-also called as
SR s S or.. Symbol.
Ans. (i) Flowchart (ii) symbols
(i) American National Standard
Institute
(iv) terminal ~ (v) Diamond.
Q2. Choose the correct answer,
(i) Flowchart symbols have been
standardized by:
(a)  Microsoft
(b) Oracle () ANSIV

/
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(d) IBM (i) D 8. InpuL’OUlpulSy?bm
(i) Flowchart symbols are connccted
together by means of (ii) I 4 b.
(a)  Numbers (b) Alphabets 2 Decision Symbo|
v (¢) Flowlines (d) Chain v
(iii) Which symbol is used to represent the c
arithmetic instructions? (111) Processing Symbo
(a)  Input/output symbol
v ing 1 : d. ,
:::)) g::;e;;::ﬁ;ymbo (iv) O Terminal Symbol
(d)  None of the above. ——=
(iv) Terminal symbol may contain: v) = T Flowlines
(a) Go (b) Start v’ l
(c) Ready (d) Run _ .
) Processing symbol also called as: Q5.  Whatis flowchart and why rl;:; tsed’
(a)  Parallelogram symbol . It helps e computer prog tme:: to
v (b)  Rectangular symbol organize the sequence ot sieps, nec]e ssary ESO]"’E
(¢) Decision symbol a problem. It is al; owsefill for helping others fo
(d) Terminal symbol understand the logic your program.
Q3.  State True or False. U It helps the computer programmer.
(1) A computer program consists of a [ P it
sequence of instructions | ® - T
(i1) Flowcharting is a valuable tool in Graphical represen;atlonlo B ml;“ler
computer programming. = program is called a flowchart. It is simple to
(iii) Start and stop symbols are same. understand a_nd create. It he]ps_the computer
: y : programmer in writing and managing a computer
(1) Flowlines may be diagonal. ' program. It is a better way of communicating the
v) Computer Programs are written before logic of a program to others.
f!owch;‘rnng. i True Q6. Discuss any four flowchart symbols.
S 83:) Trnt:: ((113 F;E:e Ans.  Flowchart Symbols . .
(v) False A set of symbols of different shapes is
needed in drawing flowcharts. lese symbols have
Match the columns. standardized meanings and have been
(1) D 2| Decision Symbol standardized the American National Standard
Institute (ANSI). Some of the commonly used
(ii) b. flowchart symbols are discussed below.
<\ Terminal Symbol 1. Start/Terminal Symbol
: All flowcharts must start and end with
(1ii) . Terminal symbol. It is used to indicate the
Input/Output Symbol | | beginning (start) and ending (stop) point of the
(iv) i - flowchart and therefore, also known as Start/Stop
© " | Processing Symbol | | SY™e°k
(v) . 4 : ©
D— lT Decision Symbol Start/Terminal Symbol
2. Input/Output Symbol

Ans.
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R —

Input/Output Symbol is yge
¢ input and output oper
qunllclngmm symbol.

[/

Input/Output Symbol
Processing Symbol
The Prqccssing symbol is used to
(epresent the arithmetic and data movement
pstructions. It is also called the rectangular

S)’mbOL

d 10 indje
N : cale
ation, Tt is also called

Lt

Processing Symbol
4. Decision Symbol
The most important flowcharting
symbol is the decision symbol. It contains a
condition that can be either true or false. It is also
called a diamond symbol.

Decision Symbol
Q7. Draw a flowchart that reads any
number, if number is greater than
zero, then display “Number is
Positive” otherwise display “Number
is Negative”.

Ans.

|

H

25 ” e

287
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Q8.

Q9.

Ans.

Ans.

Draw a flowchart that calculates the
Area of square.

Start

¢

Area of square = side x side

Le']

l
l

 rod
Draw a flowchart that reads any
number, if number is greater than
zero, then display “Number is
Positive” otherwise display “Number

- is Negative”.

!

[input Lengths Al

l Yes

fA>0

number is positive

Q10.

o

number is
negative

*«.
Stop)

Draw a flowchart that reads any
number, if number is even, then
display “Even Number” otherwise
display “Odd Number”. !
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(viii) A e error occurs Whe
Ans, Emmmalmal rules of the Iangu%e are
Start not followed.
l IR command is useq |
execute the BASIC program.
[Entcr Nlll'l'lh(lsl (X) A pro&ra[‘n that contains the RFAD
l statement must also contain at least o,
............. statement.
Num|{ | e :
F)D = Ans. (i)  Programming
(ii) program
1 i (iii) software
(iv) Beginners Al Purpose  Symboli;
If Instructions Code
mod > 0 v) Hypertext Markup Language
‘(vij  FORTRAN
EVEN 1 (vii) Constant (viii) Syntax
: (ix) RUN (x) DATA
No Q2. Choose the correct answer
: (i) Computer Programs are known as:
0DO il (a) Computer language
| J’ : | v (b) Software (c) Hardware
4 (d) Networking
(ii) ST.NAME is the:
(a) Constant
(b)  Numeric variable name
Chapter 5 4 (c)  String variable name
- (d) Reserved word
COMP UTER P ROGRAMM]NG (iii) The (back slash) is used to indicate
the: ‘
v (a) Integer division
(b) Real division
1. Fill in the blanks. (c)  Remainder
(i) The process of designing and writing (d)  Exponentiation
computer program is called (iv) The expression ‘8 MOD 4 + 2° would
(ii) A set of instructions is called as a return the value:
computer | Y (@) 2 (b) 4
111 ST — is the term used to refer (c) 8 (d) 16
to one or more computer programs. iv. | (V) > < s the:
BASICstandsfor (a)  Greater than operator
(v) BTML stanids o8 s (b)  Less than’ operator
(vi) Language was de_veloged v (c)  Not equal to operator
for . slcwntxﬁc and  engineering (d)  Equal to operator
o Do, (vi) © BASIC is the:
(VD) A ssessassa 18 a fixed Valuc? that (@)  Grammatical language
does not change during the execution of | 6} B mmese T
a program. puip guag

(c)  Business oriented language
(d)  Scientific language
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yil I ed to ace :
( mlucs'fm" variables during 1“‘0gr;p[ (ix)  False (x) False
execution? i Q4. Match the columns:
(@)  LET statement (1) [F2 (a) |LET
(b)  PRINT statement [
/ (¢)  INPUT statement (i) [READ (b) |Web programming
d) RE )
(d) AD/DATA Statement (iii) [HTML (c) |MOD
(vil) The statement ‘10 pRINT 22Y7
would returns a valye: (iv) Assignment (d) |DATA
(@) 3.14159 b) 3 v statement
(c) 22 d o (v) [Modulus (e) |RUN
(x) ~ If there are more variables i the Operator
READ statement in 3 program than | Ans.
that of constants in the DATA |[ [F2 @ [RUN
4 1 a
st.atements, which error message will ( )
display. (i1) READ [(b) |DATA
(a) Logical Error
(b)  Syntax Error (ii1) HTML (c) |Web programming
7 .
(©) Out of.Data Error (IV) Assignment (d) |LET
(d) Run Tlme Error statement
(x) The fundamental decision- | M
making«statement in BASIC is: v) ogiﬁizsr R
(@) LET Statement : .- :
b) P Siatement Qs. ;Wdl;:; t:; I:;ASIC language? Define its
(c)  INPUT Statement ‘Ans.  BASIC l?méuage
v (d)  IF/THEN Statement BASIC stands for Beginners All-
93. State T::ue or False, - : purpose Symbolic Instruction Code. It was
(i) BASIC is casy for beginners to learn developed by John Kemeny and Thomas Kurtz,
(11) Hardware is useless without software. in mid-1960s. A few advantages of BASIC
(i)  Syntax error occurs due to the improper | language are given below:
format. : £ it BASIC is a very simple programming
(iv) HTML is a scientific language. language. '
(v) The first character of variable name | 2. It has very simple and easy grammatical
must be an alphabet. rules (syntax). |
(vi)  Parentheses are used to change the | 3. It is easy for beginners to learn,
priority order. 4, It is all purpose programming language.
(vii)  Computer can detect the logical error. 5 It is user friendly language.
(viii)  F3 is used to load a program from the | 6. It has many built-in functions.
disk into memory. Q6. Differentiate between Constants &
(ix) Variables are separated by semicolons Variables.
in READ statement Ans. CONSTANT & VARIABLE
(x) READ statement can be used without Constant: A constant is a fixed value
DATA statement. that does not change during the execution of a
Ans ()  True (i) True program, for example 123,3.14157, “Hello” etc,
(i) True (iv) False There are two types of constants. Numeric
(V) True (vi) True Constant and String Constant.
(vii) False (viii) True
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(a) Numeric  Constant:
referred to as Numeric constants.
For example:
0 ra) +10 -300
String Constant: String constants are
used for non-numeric poses, such as headings of
printing messages. For example:

“I love Pakistan” “Sameed” o
“G.H.SCHOOL NO.2”  “14 August, 1947

Variable .

Variables, unlike constants, change their
values during the execution of a program. A
variable (or variable-name) refers to a location 1n
memory in which value maybe stored. For
example:

Z
I0LETZ=5 - @

In the above BASIC language statement,
Z is a variable name, which ids a value 5.

Q7. Discuss the variable name rules. |

Ans.  Variable names are sequence of
characters that obey the following rules:

1. Variable names can contain letters (A to
Z), digits (o to 9) and decimal point.

2. Variable names may be typed in either
upper or lower case. :

3. The first character of variable name
must be an alphabet.

4. No embedded blank space is allowed.

3. Reserved words cannot be used as
variable name. ‘

6. ‘Variable name can be of any length, but
first 40 characters are significant,

1. Variable names should be meaningful.

Q.8 Discuss the Arithmetic operators used

» . in BASIC language.
Ans.  ARITHMETIC OPERATORS

.. BASIC has seven arithmetic operators,
which are given below: h

Operator Operaiion Examplé
+ Addition 2+2
- Subtraction 5-3
Multiplication 4*4

Computer Ed“"at.'o

290 = \u&
—/ﬁ; Division »
Numbers arc \ [nteger Division g "
314159 & Exponcntiation §a 2

MOD  Modulus Operator 5 MO[)2

The + and — Symho.]s are yg,
addition and subtractlo.n Whergy 0
(asterisk) is used for multiplicay bty

The / (slash) symbol is used tq ing;

C
° Real division. For example ;::
expression 5/2 would yield the -
2.5.

The \ (back slash) is used to indicyg, "
Integer division. For. example;
expression 5Y2 would yield the resulty
° The A (caret) symbol indicates that ,
number is to be raised to a power,
expression 3”2 would be read as 3 raieg
to the power of 2 and would yie|q te
result 9.
° - The MOD (modulus operator) compy,
the remainder after the first valy
- divided by second value. For exampl, §
MOD 3 would yield the result 2.

Q.9 What is the purpose of INPy]
statement? Discuss its syntax.
Ans. INPUT STATEMENT

The INPUT statement is used to accepl
values for variables during program execution. |
has the following general form:

Line# INPUT “Prompt”; Var1, Var2, Var3,...

Yarn: Where Prompt is optional

| uses to display the message for inputting values.

~ When INPUT statement is execu?ed
during program execution, it displays a questior
mark (?) at the start of a new line which asks yov

to type a value for each variable, listed in ¥
INPUT statement.

A few examplesr of. INPUT statements
are given below:

10 INPUTZ

20 INPUT A, B,C

30 INPUT ADDRESSS

40 INPUT “Enter your Rno”; RNO
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clo

}.I}I‘.\’I‘U'l”‘lilllcr P
H}]NPU']- “Fnter 2nd Value *: 3

‘:ﬂ ]N]"U'I. “Enter 3rd Value e

IS B 1 C

30 pRINT “SUM =*:S

0 END-

RUN | |
gater 18t Value? 27

pater 2nd Value? 50

Enter 3rd Value ? 88

— 291

Computer Education-8

Q.12 Write a BASIC program to input

'a'{'ﬁ'r Write a BASIC program to in
number and display
cube.

. put any
Its square and

Ans.
10 input “Enter Number”; Num
20 Sqr = Number*Number
30 Print “Square ="; Sqr
40 Cub = Num * Num * Num
50 Print “Cube = *; Cub
60 END

any  number, if number is
greater than zero, then display
“Positive Number” otherwise
display “Negative Number”.

Ans.

10 Input “Enter Num”; N

20 Let R =N MOD2

30 if R > 0 Then print.

N; “Positive N;
“Negative Number”

40 END

Q.11 Write a BASIC program to read any
five numbers from DATA statement
and then compute their sum and
average and display the result on

SCreermn.

Ans. A BASIC program to display the larger
one out of the two given unequal
numbers.

10 INPUT “Enter Any Two Five
Numbers”: A, B, C,D, E

20 LET SUM = A+B+C+D+3E

30 LET SUM = A+B+C+D+E

30 LET AVERAGE = SUM/5

40 PRINT “Sum ="; SUM

S0 PRINT “Average ="; AVERAGE
60 END

The End
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